HEy 2 —HaHBLZ2—DORFRIROLEEY TT

A EEAR - 2020818 ~12F
HILDER = AB/EFEH

BENEE=AY (ZEFH-EMICLSET BIER

=
) HA D¢ 90% LA 95% 1
= R 95% L4 100%

EXT—X  BmEELEXEMEEERY X T 4



£ K

(%) BIEICEER :945%

100

95

90
85
s !

18 2B 3B 4B 5B 6HA 7B 8B 98 108 118 128 1§

mELEX (%) BRELELEX (%)



}

bu | [T
e
yad

D - RIS

(%)
100

95

90
8
ad AN |

18 2B 3B 4B 5B e6H 7B 8B 98 10B 118 128 5

BESEX (%) mEELEX (%)

(92}

o

(92}



_ ~ == S
— NN T &= .
Rt 2= =05 E R 882
& IE It & X 96. 5%
(%)
100
95
90
85
) I I |
75

18 28 3B 483 5sB 6B 7B 8B 98 108 118 12 Y5

BELEX (%) ®RELELEXR (%)



